Whatchamacallits, thingamabobs, gizmos, widgets, doodats and stuff ® 3 th H i.d
1984 - 2014

components

Non Skid Rubber Pad | NBR Rubber 70 Shore

11-FNSRP103

11-FNSRP123 123
11-FNSRP40M 40
11-FNSRP50M 50
11-FNSRP63 63
11-FNSRP83 83

Polyamide Fixed Foot 30/40 Dia. Galvanised Steel Screw

11-FFS30S8-20 M8X20 20 30 M8 1.5 31.5 2000
11-FFS30S10-20 M10X20 20 30 M10 11.5 31.5 2000
11-FFS40S8-25 M8X25 25 40 M8 14.5 39.5 2500
11-FFS40S10-25 M10X25 25 40 M10 14.5 39.5 2500
T_F_

!

i (s I

]

& |

I 1

v +

§ |

< i

)i

b

=

Rubber Fixed Foot 35 Dia. Galvanised Steel Screw

11-FFPB30S6-18 M6X18 10 30 M6 18 28 1000

PR R

H
(AR

sales@hiqg.co.nz © Hi-Q Electronics Limited www.hig.co.nz 68



